

Slaughter Performance Report 3.HEIFERS (01-Jan-2021 to 30-Sep-2021)



Call 023-8820452

Print Date: Herd Owner: Herd Number: 03rd Nov 2021

2010 1101 2021

Section 3 :HEIFERS										
1 (a). Summary		1 (b). Top 3 Key Performance Indicators (KPI's)								
Total Heifers Slaughtered with	4	1. Factory Price (EUR)	€1,009							
complete factory records in the database		The average factory price received for these	(€3.72/Kg)							
Average Age at Slaughter	25.1mths	slaughtered animals in the period	(3)							
Range in age at Slaughter	24 - 25mths	2. Lifetime Margin per day per animal (EUR) Birth to Factory - Average Selling Price divided by age in	€1.32/day							
Start Slaughter Date	01/04/2021	days at time of slaughter (expressed as EUR/day)								
End Slaughter Date	01/04/2021	3. Carcass Quality (% of carcasses achieving high price grades, - R+ or better)	0%							

	E	U+	U=	U-	R+	R=	R-	0+	O=	0-	Р
1											
2-											
2=											
2+											
3-										1	
3=											
3+										2	
4-											
4=										1	
4+											
5											

Section 1 HEIFERS: Summary by Herd of Birth of Animal (Showing top 5 only)										
		On fa	rm perform	ance	Factory pe	erformance	Financia	al performation	ance	
Breeder	Dieeder Dieeder Address		Number of Days on Animals		Carcass Weight (kg) Carcass Grading		Factory Price Price per kg		Lifetime Euros per day	
Own Co Cork		4	764	25	272	O-3+	€1,009	€3.72	€1.32	
Totals	4	764	26	272		€1,009	€3.72			

Section 1 Heifers: Summary by Sire Breed of Animal (Showing top 5 only)										
		On farm perform	nance	Factory per	formance	Financial performance				
Grouped by Breed of Sire	Number of Animals	Days on Farm	Average Age at Slaughter (Months)	Carcass Weight (kg)	Carcass Grading	Factory Price	Price per kg	Lifetime Euro per day		
Holstein	4	764	25	272	O-3+	€1,009	€3.72	€1.32		

This report has been prepared by ICBF in good faith on the basis of information provided to it. No representation or warranty expressed or implied is made or given by ICBF as to the accuracy, reliability, completeness of this Report. ICBF shall not be liable for any losses (whether direct or indirect), damages, costs or expenses whatsoever, incurred or arising from any use of or reliance on this Report or the information contained in it by any person



Slaughter Performance Report 3.HEIFERS (01-Jan-2021 to 30-Sep-2021)



Call 023-8820452

Print Date: Herd Owner: Herd Number: 03rd Nov 2021

	Section 2: HEIFERS DETAILS												
Animal De	Animal Details Purchase Details					Fac	tory Perfo	rmance				KPI	l's
Tag Number	Brd	Sire	Breeder	Factory		Age at Slaughter (Months)			Fat	Price per kg	Overall Price	Days on Farm	Lifetime Euro per day
	но	FR4439	Own	'	01/04/21	26	294	0-	4=	€3.67	€1,079	775	€1.39
	но	FR4339	Own		01/04/21	25	276	0-	3+	€3.73	€1,029	744	€1.38
	но	FR4239	Own	'	01/04/21	25	265	0-	3+	€3.73	€988	757	€1.31
	НО	FR4328	Own	·	01/04/21	26	252	0-	3-	€3.73	€940	778	€1.21
Totals / Average	Fotals / Averages									€3.72	€1,009	764	€1.32



Slaughter Performance Report 4.COWS (01-Jan-2021 to 30-Sep-2021)



Call 023-8820452

Print Date: Herd Owner: Herd Number: 03rd Nov 2021

Section 4 :COWS										
1 (a). Summary		1 (b). Top 3 Key Performance Indicators (KPI's)								
Total Cows Slaughtered with complete	8	1. Factory Price (EUR)	€1,070							
factory records in the database Average Age at Slaughter	113.8mths	The average factory price received for these slaughtered animals in the period	(€3.16/Kg)							
Range in age at Slaughter	85 - 135mths	2. Lifetime Margin per day per animal (EUR) Birth to Factory - Average Selling Price divided by age in	€0.31/day							
Start Slaughter Date	23/02/2021	days at time of slaughter (expressed as EUR/day)3. Carcass Quality	0%							
End Slaughter Date	28/04/2021	(% of carcasses achieving high price grades, - R+ or better)								

	E	U+	U=	U-	R+	R=	R-	0+	O=	0-	Р
1											
2-											
2=											
2+											
3-											
3=											
3+											
4-											1
4=										2	2
4+											1
5									1		1

Section 1 COWS: Summary by Herd of Birth of Animal (Showing top 5 only)										
		On fa	rm perform	ance	Factory pe	erformance	Financial performance			
Breeder	Breeder Breeder Address		Days on farm	Average age at slaughter (months)	Carcass Weight (kg)	Carcass Grading	Factory Price	Price per kg	Lifetime Euros per day	
Own Co Cork		8	3463	115	339	P+4=	€1,070	€3.16	€0.31	
Totals	8	3463	115	339		€1,070	€3.16			

Section 1 Cows: Summary by Sire Breed of Animal (Showing top 5 only)											
		On farm perforn	Factory per	formance	Fi	nancial performation	ance				
Grouped by Breed of Sire	Number of Animals	Days on Farm	Average Age at Slaughter (Months)	Carcass Weight (kg)	Weight Grading		Price per kg	Lifetime Euro per day			
Holstein	7 3380 113		113	338 P+4=		€1,071	€3.17	€0.32			
Friesian	1	4040	135	343	P+4-	€1,063	€3.10	€0.26			

This report has been prepared by ICBF in good faith on the basis of information provided to it. No representation or warranty expressed or implied is made or given by ICBF as to the accuracy, reliability, completeness of this Report. ICBF shall not be liable for any losses (whether direct or indirect), damages, costs or expenses whatsoever, incurred or arising from any use of or reliance on this Report or the information contained in it by any person



Slaughter Performance Report 4.COWS (01-Jan-2021 to 30-Sep-2021)



Call 023-8820452

Print Date: Herd Owner: Herd Number: 03rd Nov 2021

				Section 2: COWS	DETAILS	6							
Animal De	etails		Purchase Details		Factory Performance KPI's								
Tag Number	Brd	Sire	Breeder	Factory	Date Killed	Age at Slaughter (Months)	Carcass Weight (kg)	Grade	Fat	Price per kg	Overall Price	Days on Farm	Lifetime Euro per day
	но	DBW	Own		23/02/21	86	325	P+	5	€2.90	€943	2591	€0.36
	но	SOK	Own		23/02/21	110	390	P+	4+	€2.90	€1,131	3296	€0.34
	но	BZR	Own		01/04/21	123	327	0-	4=	€3.20	€1,046	3695	€0.28
	но	нтн	Own		01/04/21	135	343	P+	4-	€3.10	€1,063	4040	€0.26
	но	CUL	Own		01/04/21	134	334	P+	4=	€3.10	€1,035	4005	€0.26
	но	IRP	Own		28/04/21	100	332	0-	4=	€3.40	€1,129	3013	€0.37
	но	FLT	Own		28/04/21	98	301	O=	5	€3.40	€1,023	2954	€0.35
	но	KSI	Own		28/04/21	137	360	P+	4=	€3.30	€1,188	4109	€0.29
Totals / Average	s						339			€3.16	€1,070	3463	€0.31
1													